SOME RESULTS ON INFINITE DIMENTIONAL NOVIKOV ALGEBRAS

ZHAO YUFENG* MENG DAOJI**

Abstract

This paper gives some sufficient conditions for determining the simplicity of infinite dimentional Novikov algebras of characteristic 0, and also constructs a class of simple Novikov algebras by extending the base field. At last, the deformation theory of Novikov algebras is introduced.

Keywords Novikov algebra, Algebraic deformation, Novikov-Poisson 2000 MR Subject Classification 17B65, 22E65 Chinese Library Classification O152.5 Document Code A Article ID 0252-9599(2003)03-0001-06

§1. Introduction

Novikov algebras were introduced in connection with the Poisson brackets of hydrodynamic type^[1]. They were also introduced in connection with Hamiltonian operators in the formal variational calculus^[2]. Geometrically, a Novikov algebra corresponds to a left invariant torsion free flat connection of the Lie group whose Lie algebra is isomorphic to the commutator Lie algebra of the Novikov algebra. The abstract study of Novikov algebras began with Zelmanov^[3], who showed that simple finite dimentional Novikov algebras of characteristic 0 are one-dimensional. Osborn classified simple Novikov algebras with an idempotent element and some modules over such algebras^[4]. A class of simple Novikov algebra without idempotent elements was constructed though Novikov-Poisson algebras by Xiaoping Xu^[5]. For further understanding and physical applications, Bai Chengming^[6] gave a classification of Novikov algebras over the complex field in dimension 2 and 3.

We call a nonassociative algebra left Novikov if it satisfies the two identities

 $(x, y, z) = (y, x, z), \quad (xy)z = (xz)y,$ where (x, y, z) = (xy)z - x(yz). The operators L_x and R_x for some $x \in A$, $L_x : A \to A,$ $y \mapsto xy,$ $R_x : A \to A,$ $y \mapsto yx$

Manuscript received April 5, 2002.

^{*}Department of Mathematics, Nankai University, Tianjin 300071, China. ${\bf E-mail:}$ ao
8889@eyou.com

^{**}Department of Mathematics, Nankai University, Tianjin 300071, China. E-mail: mengdi@nankai.edu.cn

are called respectively the left multiplication operator and the right multiplication operator. The beauty of a Novikov algebra is that the left multiplication operators form a Lie algebra and the right multiplication operators are commutative. A Novikov-Poission algebra is a vector space A with two operations " \cdot , \circ " such that (A, \cdot) forms a commutative associative algebra and (A, \circ) forms a Novikov algebra for which

$$(x \cdot y) \circ z = x \cdot (y \circ z), (x \circ y) \cdot z - x \circ (y \cdot z) = (y \circ x) \cdot z - y \circ (x \cdot z)$$

The main theorem in [4] is: if A is a simple infinite dimensional Novikov algebra over a field of characteristic 0 containing an idempotent e with the property that $A = \sum_{\alpha} A'_{\alpha}$, where

 $A'_{\alpha} = \{ x \in A \mid [L_e - (\alpha + b)id]^n x = 0 \text{ for some } n \},\$

then A is described by one of the following:

(1.1) A has a basis $\{x_i\}_{i\geq -1}$, where products are given by $x_i x_j = (j+1)x_{i+j}$.

(1.2) A has a basis $\{x_{\alpha}\}$, where α ranges over an additive subgroup \triangle of F, and products are given by $x_{\alpha}x_{\beta} = (\beta + b)x_{\alpha+\beta}$.

(1.3) A has a basis $\{x_{\alpha,k}\}$, where products are given by

$$x_{\alpha,k}x_{\beta,l} = (\beta+b)\binom{k+l}{k}x_{\alpha+\beta,k+l} + \binom{l+k-1}{k}x_{\alpha+\beta,k+l-1}.$$

A natural question is whether the inverse of the statement is true. In this paper we give the positive answer. To prove this ,we will first show that the Novikov algebras of algebraic structure (1.1), (1.2) or (1.3) are all simple.

Algebraic deformation theory was introduced for associative algebras by Nijenhuis and Richardson^[7]. In [8, 9], Bai gave the deformation theory of Novikov algebras and proved that the Novikov algebras in dimension ≤ 3 can be realized as the algebras defined by I. M. Gel'fand^[10] and their compatible infinitesimal deformations. Whether this result can be extended to higher dimensions remains an open problem. In this paper, we introduce the general deformation theory of Novikov algebras.

The paper is organized as follows. In Section 2, we prove that the Novikov algebras of algebraic structure (1.1), (1.2) or (1.3) are all simple. In Section 3, we construct a class of simple Novikov algebras by extending the base field. The general deformation theory of Novikov algebra is introduced in Section 4.

§2. Simplicity of Novikov Algebras

In this section, we give some sufficient conditions for determining the simplicity of Novikov algebras. Throughout this section, let (A, \circ) be an infinite dimensional Novikov algebra over a field of characteristic 0. The set of positive integers will be denoted by N.

Theorem 2.1. If A has a basis $\{x_i\}_{i\geq -1}$, where products are given by $x_i \circ x_j = (j+1)x_{i+j}$, then (A, \circ) is simple.

Proof. Suppose *I* is a nonzero ideal of *A*. Let *i* be an arbitrary nonzero element of *I*. We can write $i = a_{i_1}x_{i_1} + \cdots + a_{i_j}x_{i_j}$, where $a_{i_k} \neq 0$ and $i_m \neq i_n$, if $m \neq n$. $k, m, n = 1, \cdots, j$.

Since $x_0 \circ x_{i_k} = (i_k + 1)x_{i_k}$, we obtain

$$i = a_{i_1} x_{i_1} + \dots + a_{i_j} x_{i_j},$$

$$L_{x_0} i = a_{i_1} (1+i_1) x_{i_1} + \dots + a_{i_j} (1+i_j) x_{i_j},$$

$$\dots \dots,$$

$$L_{x_0}^{j-1} i = a_{i_1} (1+i_1)^{j-1} x_{i_1} + \dots + a_{i_j} (1+i_j)^{j-1} x_{i_j}$$

The matrix of this system has the form

$$M = \begin{pmatrix} a_{i_1} & a_{i_2} & \cdots & a_{i_j} \\ a_{i_1}(1+i_1) & a_{i_2}(1+i_2) & \cdots & a_{i_j}(1+i_j) \\ \vdots & \vdots & \ddots & \vdots \\ a_{i_1}(1+i_1)^{j-1} & a_{i_2}(1+i_2)^{j-1} & \cdots & a_{i_j}(1+i_j)^{j-1} \end{pmatrix}_{j \times j}$$

Notice that det $M = \left(\prod_{k=1}^{j} a_{i_k}\right) \det B$, where det B is the determinant of Vandermonde and we have det $M \neq 0$ if $i_m \neq i_n (m \neq n)$. Hence, x_{i_1}, \dots, x_{i_j} are linear combinations of the vectors $i, L_{x-0}i, \dots, L_{x_0}^{j-1}i$. So, x_{i_1}, \dots, x_{i_j} are all in I. Since $i \neq 0$, we have at least one element $x_k \in I$. If k = -1, i.e., $x_{-1} \in I$, for arbitrary $i \in N, x_{-1} \circ x_i = (i+1)x_{i-1} \in I$. So, $x_{i-1} \in I$. Hence, I = A. If $k \neq -1$, we have $x_{-1} \circ x_k = (k+1)x_{k-1} \in I$. So $x_{k-1} \in I$. Using induction we can get $x_{-1} \in I$. Hence, I = A. From the above proof, we can see that A has no nontrivial ideal, i.e. A is simple.

Theorem 2.2. If A has a basis $\{x_{\alpha}\}$, where α ranges over an additive group \triangle of F, and products are given by $x_{\alpha}x_{\beta} = (\beta + b)x_{\alpha+\beta}$, then A is simple.

Proof Suppose I is a nonzero ideal of A. Let i be an arbitrary element of I. We can write $i = a_1 x_{\alpha_1} + \cdots + a_j x_{\alpha_j}$, where $a_k \neq 0$ and $\alpha_m \neq \alpha_n$. Using the similar device as in Theorem 2.1, we can get $x_{\alpha_k} \in I, k = 1, \cdots, j$. Since $i \neq 0$, we have at least one element $x_{\alpha} \in I$.

Case 1. Suppose $b \neq 0$. If $\alpha \neq -b, \forall \beta \in \Delta, \beta - \alpha \in \Delta$, we have $x_{\beta-\alpha}x_{\alpha} = (\alpha+b)x_{\beta} \in I$. So $x_{\beta} \in I$. If $\alpha = -b$, i.e. $x_{-b} \in I$, since $-b \in \Delta$, we get $b \in \Delta, x_{-b} \circ x_{b} = 2bx_{0} \in I$. Hence, $x_{0} \in I$. For all $\alpha \neq -b, x_{0} \circ x_{\alpha} = (\alpha+b)x_{\alpha} \in I$. So $x_{\alpha} \in I$. Summarizing, we have I = A.

Case 2. Suppose b = 0. If $\alpha = 0$, i.e., $x_0 \in I$, for arbitrary $\alpha \in \Delta - \{0\}$, $x_0 x_\alpha = \alpha x_\alpha \in I$. So we have $x_\alpha \in I$. If $\alpha \neq 0, x_\alpha \in I$. Since $x_{-\alpha} \circ x_\alpha = \alpha x_0$, we have $x_0 \in I$. For arbitrary $\beta \in \Delta - \{0\}, x_0 x_\beta = \beta x_\beta \in I$. So we have $x_\beta \in I$. Summarizing we get I = A. From the above we can see that A has no nontrivial ideal, i.e., A is simple.

Theorem 2.3. If A has a basis $\{x_{\alpha,k}\}$, where α ranges over an additive group \triangle of F and k ranges over the nonnegative integers Z_+ , where products are given by

$$x_{\alpha,k}x_{\beta,l} = (\beta+b)\binom{k+l}{k}x_{\alpha+\beta,k+l} + \binom{k+l-1}{k}x_{\alpha+\beta,k+l-1}$$

then A is simple.

Proof. For any $\omega = \sum_{\alpha \in \Delta, j \in \mathbb{Z}_+} a_{\alpha,j} x_{\alpha,j} \in A$, we define

$$d_{\beta}(\omega) = \begin{cases} x \max\{j \in J | a_{\beta,j} \neq 0\}, & \text{if some } a_{\beta,j} \neq 0; \\ -1, & \text{otherwise.} \end{cases}$$

Put $\widetilde{A}_{\gamma} = \sum_{j \in \mathbb{Z}_+} Fx_{\gamma,j}$ for $\gamma \in \triangle$ and put $\partial = L_{x_{0,0}} - b$ id. It is obvious that $\partial(x_{\alpha,j}) =$

 $\alpha x_{\alpha,j} + x_{\alpha,j-1}$. Note that, for any $\beta \in \Delta$,

$$(\partial - \beta i d)(\omega) = \sum a_{\alpha,j} [(\alpha - \beta) x_{\alpha,j} + x_{\alpha,j-1}],$$

$$d_{\beta} [(\partial - \beta i d)(\omega)] = d_{\beta}(\omega) - 1,$$

$$d_{\gamma} [(\partial - \beta i d)(\omega)] = d_{\gamma}(\omega), \text{ for } \beta \neq \gamma \in \Delta.$$

Moreover, if $d_{\beta}(\omega) \geq 0$, we have

$$\begin{aligned} d_{\beta}[(\partial - \beta id)^{d_{\beta}(\omega)+1}(\omega)] &= -1, \\ d_{\gamma}[(\partial - \beta id)^{d_{\beta}(\omega)+1}(\omega)] &= d_{\gamma}(\omega) \text{ for } \beta \neq \gamma \in \Delta. \end{aligned}$$

Therefore $(\partial - \beta id)^{d_{\beta}(\omega)+1}(\omega) \in \sum_{\beta \neq \gamma \in \Delta} \widetilde{A}_{\gamma}.$

Suppose I is a nonzero ideal of A, and let ω be an arbitrary nonzero element of I. We can write

$$\omega = b_{11}x_{\alpha_1,a_{11}} + \dots + b_{1i_1}x_{\alpha_1,a_{1i_1}} + b_{21}x_{\alpha_2,a_{21}} + \dots + b_{2i_2}x_{\alpha_2,a_{2i_2}} + \dots + b_{s1}x_{\alpha_s,a_{s1}} + \dots + b_{si_s}x_{\alpha_s,a_{si_s}},$$

where $b_{mn} \in F - \{0\}, a_{k1} \ge a_{k2} \ge \cdots \ge a_{ki_k}, k = 1, \cdots, s$. From the above proof, we get

$$Q = \prod_{i \neq j} (\partial - \alpha_i i d)^{d_{\alpha_i}(\omega) + 1}(\omega) \in \widetilde{A}_{\alpha_j},$$
$$d_{\alpha_j}(Q) = d_{\alpha_j}(\omega).$$

Using the similar device as in Theorem 2.1, we get $x_{\alpha_j,a_{j,p}} \in I$, $p = 1, \dots, i_j$, $j = 1, \dots, s$. Since $\omega \neq 0$, we have at least one nonzero element $x_{\alpha,k} \in I$.

Case 1. Suppose $b \neq 0$.

If $\alpha = 0$, i.e. $x_{0,k} \in I$, since $x_{0,0}x_{0,k} = x_{0,k-1} \in I$, we get $x_{0,k-1} \in I$. Using induction, we have $x_{0,0}, x_{0,2} \in I$. Since $x_{0,k}x_{0,2} = \binom{k+1}{k}x_{0,k+1} \in I$, we have $x_{0,k+1} \in I$. Using induction we have $x_{0,i} \in I$, for arbitrary $i \in Z_+$. For arbitrary $\beta \in \Delta - \{0\}, l \in Z_+$. Since $x_{0,l}x_{\beta,0} = \beta x_{\beta,l} \in I$, we have $x_{\beta,l} \in I$. Hence, I = A.

If $\alpha \neq 0$, since $x_{0,0}x_{\alpha,k} = \alpha x_{\alpha,k} + x_{\alpha,k-1} \in I$, we have $x_{\alpha,k-1} \in I$. Using induction we have $x_{\alpha,0} \in I$. Since $\alpha \in \Delta, -\alpha \in \Delta$ and $x_{-\alpha}, x_{\alpha,0} = \alpha x_{0,0} \in I$, we have $x_{0,0} \in I$. Since $x_{0,0}x_{0,k} = x_{0,k-1} \in I$, we have $x_{0,k-1} \in I$. Using induction, we can get $x_{0,i} \in I$ for arbitrary $i \in Z_+$. For arbitrary $\beta \in \Delta -\{0\}, k \in Z_+$, we have $x_{0,k}x_{\beta,0} = \beta x_{\beta,k} \in I$. So $x_{\beta,k} \in I$. Hence, I = A.

Case 2. Suppose $b \neq 0$.

If $\alpha \neq -b$, since $x_{0,0}x_{\alpha,k} = (\alpha + b) x_{\alpha,k} + x_{\alpha,k-1} \in I$, we have $x_{\alpha,k-1} \in I$. Using induction we can get $x_{\alpha,0} \in I$. Since $\alpha \in \Delta$, $-\alpha \in \Delta$, and $x_{-\alpha,o} x_{\alpha,0} = (\alpha + b)x_{0,0} \in I$, we have $x_{0,0} \in I$. Since $x_{0,0} x_{\alpha,k+1} = (\alpha + b)x_{\alpha,k+1} + x_{\alpha,k} \in I$, we have $x_{\alpha,k+1} \in I$. Using induction we have $x_{\alpha,i} \in I$, for arbitrary $i \in Z_+$. For arbitrary $\beta \in \Delta$, $i \in Z_+$, $-\alpha + \beta \in \Delta$, $x_{-\alpha+\beta,i}x_{\alpha,0} = (\alpha + b)x_{\beta,i} \in I$, we have $x_{\beta,i} \in I$. Hence, I = A.

If $\alpha = -b$, i.e. $x_{-b,k} \in I$, $\alpha = -b \in \Delta$, then $b \in \Delta$. Since $x_{-b,k}x_{b,0} = 2bx_{0,k} \in I$, we have $x_{0,k} \in I$.

Since $x_{0,0}x_{0,k} = bx_{0,k} + x_{0,k-1}$, we have $x_{0,k-1} \in I$. Using induction we have $x_{0,0} \in I$. Since $x_{0,k}x_{0,1} = bx_{0,k+1} + x_{0,k} \in I$, we have $x_{0,k+1} \in I$. Using induction we have $x_{0,i} \in I$, for arbitrary $i \in Z_+$. For arbitrary $\beta \in \triangle - \{-b\}, i \in Z_+, x_{0,i}x_{\beta,0} = (\beta + b)x_{\beta,i} \in I$. $\alpha = -b \in \triangle$, then $2\alpha = -2b \in \triangle$. For arbitrary $i \in Z_+, x_{b,i}x_{-2b,0} = -bx_{-b,i} \in I$. So we have $x_{-b,i} \in I$. Hence, I = A.

From the above proof we can see A has no nontrivial ideal, i.e. A is simple.

Corrollary 2.1. If A is a simple infinite dimensional Novikov algebra over a field of characteristic 0 containing an idempotent e with the property that $A = \sum_{\alpha} A'_{\alpha}$, where $A'_{\alpha} = \{x \in A \mid [L_e - (\alpha + b)id]^n x = 0 \text{ for some } n\}$, then the subalgebra $\sum_{\alpha \in \Delta} A_{\alpha}$ is a simple Novkov algebra over A_0 .

Theorem 2.4. A is a simple infinite dimensional Novikov algebra of characteristic 0 containing an idempotent e with the property that $A = \sum_{\alpha} A'_{\alpha}$, where $A'_{\alpha} = \{x \in A | [L_e - (\alpha + b)id]^n x = 0 \text{ for some } n\}$, if and only if A is described by one of the following:

(1) A has a basis $\{x_i\}_{i\geq -1}$, where products are given by $x_ix_j = (j+1)x_{i+j}$.

(2) A has a basis $\{x_{\alpha}\}$ where α ranges over an additive subgroup \triangle of F, and products are given by $x_{\alpha}x_{\beta} = (\beta + b)x_{\alpha+\beta}$

(3) A has a basis $\{x_{\alpha,k}\}$ where products are given by

$$x_{\alpha,k}x_{\beta,l} = (\beta+b)\binom{k+l}{k}x_{\alpha+\beta,k+l} + \binom{l+k-1}{k}x_{\alpha+\beta,k+l-1}.$$

Proof. Based on the above results, to prove the theorem we need only to prove that there exists an element $e \in A$ such that $e^2 = be$ for some $b \in F$ and $A = \sum_{\alpha} A'_{\alpha}$, where $A'_{\alpha} = \{x \in A \mid [L_e - (\alpha + b)id]^n x = 0 \text{ for some } n\}.$

In Case (1), since $x_0x_0 = x_0$, putting $e = x_0$ and $A'_i = Fx_i$, we can easily verify that $A'_i = \{x \in A \mid [L_e - (i+1)id]^n x = 0 \text{ for some } n\}$ and $A = \sum A'_i$.

In Case (2), since $x_0x_0 = bx_0$, putting $e = x_0$ and $A'_{\alpha} = Fx_{\alpha}$, then we can easily verify that $A'_{\alpha} = \{x \in A \mid [L_e - (\alpha + b)id]^n x = 0 \text{ for some } n\}$ and $A = \sum_{\alpha \in \Delta} A'_{\alpha}$.

In Case (3), since $x_{0,0}x_{0,0} = bx_{0,0}$, putting $e = x_{0,0}$ and $A'_{\alpha} = \widetilde{A}_{\alpha}$, we can easily verify that $A'_{\alpha} = \{x \in A \mid [L_e - (\alpha + b)id]^n x = 0 \text{ for some } n\}$ and $A = \sum_{\alpha \in \wedge} A'_{\alpha}$.

§3. New Simple Novikov Algebras

In this section, we consider the simplicity of Novikov algebra $A \otimes_F E := A^E$ over E, where E is an extension field of F.

Let $\{\xi_i\}_{i\in I}$ be a basis of A. Then A^E has $\{\xi_i \otimes 1\}_{i\in I}$ as a basis. The products of Novikov algebra A^E are given by

$$(\xi_i \otimes 1)(\xi_j \otimes 1) = \xi_i \xi_j \otimes 1.$$

By Theorems 2.1–2.3, we can easily obtain

Theorem 3.1. If A is a Novikov algebra satisfying one of the conditions (1.1), (1.2) and (1.3), then A^E is simple.

§4. The Deformation Theory of Novikov Algebras

In this section, we shall give the definition of deformation of a Navikov algebra A over a commutative ring F. Since A is F-module, we can obtain an F[t]-module $A[t] = A \otimes_F F[t]$.

As a matter of fact, A[t] is an F[t]-module of formal power-series with coefficients in the F- module A, i.e. $A[t] = \left\{ \sum_{i=0}^{n} a_i t^i | n \in \mathbb{Z}_+, a_i \in A \right\}$. The algebra A is submodule of A[t] and we could make A[t] an algebra by bilinearly extending the multiplication of A, but we may also impose other multiplications on A[t] that agree with that of A when we specialize t = 0.

Suppose a multiplication α : $A[t] \otimes_{F[t]} A[t] \to A[t]$ is given by a formal power-series of the form

$$\alpha(a,b) = \alpha_0(a,b) + \alpha_1(a,b)t + \alpha_2(a,b)t^2 + \cdots$$

Since we are defining α over F[t], it is enough to consider a and b in A, and we further presume that each α_n is a linear map $A \otimes A \to A$. Since we want the specialization t = 0to give the original multiplication on A, we insist that $\alpha_0(a, b) = ab$ (multiplication in A).

Definition 4.1. A one-parameter formal deformation of a Novikov algebra A over a commutative ring F is a formal power-series $\alpha = \sum_{n=0}^{\infty} \alpha_n t^n$ with coefficients in $Hom_F(A \otimes A, A)$ such that $\alpha_0 : A \otimes A \to A$ is a multiplication in A. The deformation is called Novikov if $\alpha(\alpha(a, b), c) - \alpha(a, \alpha(b, c)) = \alpha(\alpha(b, a), c) - \alpha(b, \alpha(a, c))$ and $\alpha(\alpha(a, b), c) = \alpha(\alpha(a, c), b)$ for all $a, b, c \in A$.

Definition 4.2. We call $A[t] = A \otimes_F F[t]$ with the multiplication defined by α the deformation of Novikov algebra A.

Example 4.1. Let (A, α_1, α_0) be a Novikov-Poisson algebra. (A, α_1) forms a commutative associative algebra, (A, α_0) forms a Novikov algebra and define $\alpha : A[t] \otimes_{F[t]} A[t] \to A[t]$ by

$$\alpha = \alpha_0 + \alpha_1 t.$$

It can be easily verified that $(A[t], \alpha)$ forms a Novikov algebra, i.e. $(A[t], \alpha)$ is the deformation of (A, α_0) .

References

- Balinski, A. A. & Novikov, S. P., Poisson brackets of hydrodynamics type, Frobenius algebras and Lie algebras, *Soviet Math Dokl.*, 32:1(1985), 228–231.
- [2] Block, R., On torsion-free abelian groups and Lie algebras, Proc. Amer. Math. Soc., 9(1958), 613–620.
- [3] Zel'manov, E. I., On a class of local translation invariant Lie algebras, Soviet Math. Dokl., 35:1(1987), 216–218.
- [4] Osborn, J. M., Infinite dimensional Novikov algebras of characteristic 0, J. Algebra, 167(1994), 146–167.
- [5] Xu Xiaoping, Novikov-Poisson algebras, J.Algebra, 190(1997), 253–279.
- [6] Bai Chengming & Meng Daoji, The classification of Novikov algebras in low dimensions, J. Phys. A: Math. Gen., 34(2001), 1581–1594.
- [7] Nijenhuis, A. & Richardson, R., Cohomology and deformations in graded Lie algebras, Bull Amer. Soc., 72(1966), 1–29.
- [8] Bai Chengming & Meng Daoji, On the realization of transitive Novikov algebras, J. Phys. A: Math. Gen., 34(2001), 3363.
- Bai Chengming & Meng Daoji, The realizations of non-transitive Novikov algebras, J. Phys. A: Math. Gen., 34(2001), 6435.
- [10] Gel'fand, I. M. & Dorfman, I. Ya., Functional Anal Appl., 13(1979), 248-262.